
SAP ABAP table V_TCND {Generated Table for View}

V_TCND

MANDT [CLNT (3)]

TABNAME [CHAR (30)]

PROFID [CHAR (12)]

PROF_FD [CHAR (12)]

PROF_EG [CHAR (12)]

PROF_SR [CHAR (12)]

PROF_AG [CHAR (12)]

PROF_GP [CHAR (12)]

SELSET_FLT [CHAR (14)]

SELSET_BFT [CHAR (14)]

SELSET_OFT [CHAR (14)]

SELID [CHAR (7)]

PROF_VGL [CHAR (12)]

SELSET_HV1 [CHAR (14)]

SELSET_BH1 [CHAR (14)]

SELIDH1 [CHAR (7)]

PROF_VGL1 [CHAR (12)]

SELSET_HV2 [CHAR (14)]

SELSET_BH2 [CHAR (14)]

SELIDH2 [CHAR (7)]

PROF_VGL2 [CHAR (12)]

T000

MANDT [CLNT (3)]

 V_TCND-MANDT = T000-MANDT 
0..N

1

TCNA

MANDT [CLNT (3)]

TABNAME [CHAR (30)]

PROFID [CHAR (12)]

KENNI [NUMC (3)]

 V_TCND-PROF_AG = TCNA-PROFID 
0..N

{0,1}

TCNE

TABNAME [CHAR (30)]

 V_TCND-TABNAME = TCNE-TABNAME 
0..N

1

TCNEG

MANDT [CLNT (3)]

TABNAME [CHAR (30)]

PROFID [CHAR (12)]

KENNI [NUMC (3)]

 V_TCND-PROF_EG = TCNEG-PROFID 
0..N

0..N

TCNF

MANDT [CLNT (3)]

TABNAME [CHAR (30)]

PROFID [CHAR (12)]

KENNI [NUMC (3)]

 V_TCND-PROF_FD = TCNF-PROFID 
0..N

{0,1}

TCNP

MANDT [CLNT (3)]

TABNAME [CHAR (30)]

PROFID [CHAR (12)]

KENNI [NUMC (3)]

 V_TCND-PROF_GP = TCNP-PROFID 
0..N

{0,1}

TCNS

MANDT [CLNT (3)]

TABNAME [CHAR (30)]

PROFID [CHAR (12)]

KENNI [NUMC (3)]

 V_TCND-PROF_SR = TCNS-PROFID 

0..N

{0,1}

TCNVG

MANDT [CLNT (3)]

TABNAME [CHAR (30)]

PROFID [CHAR (12)]

KENNI [NUMC (3)]

 V_TCND-PROF_VGL = TCNVG-PROFID 

0..N
{0,1}

 V_TCND-PROF_VGL1 = TCNVG-PROFID 

0..N{0,1}
 V_TCND-PROF_VGL2 = TCNVG-PROFID 

0..N{0,1}

TJ48

MANDT [CLNT (3)]

SELID [CHAR (7)]

 V_TCND-SELID = TJ48-SELID 

0..N

{0,1}

 V_TCND-SELIDH1 = TJ48-SELID 

0..N

{0,1}

 V_TCND-SELIDH2 = TJ48-SELID 

0..N

{0,1}

VARID

MANDT [CLNT (3)]

REPORT [CHAR (40)]

VARIANT [CHAR (14)]

FLAG1 [CHAR (1)]

FLAG2 [CHAR (1)]

 V_TCND-SELSET_BFT = VARID-VARIANT 

0..N

{0,1}

 V_TCND-SELSET_BH1 = VARID-VARIANT 

0..N

{0,1}

 V_TCND-SELSET_BH2 = VARID-VARIANT 

0..N

{0,1}

 V_TCND-SELSET_FLT = VARID-VARIANT 

0..N

{0,1}

 V_TCND-SELSET_HV1 = VARID-VARIANT 0..N

{0,1}

 V_TCND-SELSET_HV2 = VARID-VARIANT 0..N

{0,1}

 V_TCND-SELSET_OFT = VARID-VARIANT 

0..N

{0,1}


